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02 2224 204,800 204,800 0]
Osdll 165,000
OFA ESEXH (Z2H,93])
2,000,000 x12& 24,000
OdBAMNEZ(ZX,B22%) 100,000& ~12& 1,200
Ool2SMSAlE = 500,000& x12& 6,000
OFEBEAMAYE SR (ML)
5,000,000 =14l 5,000
OFASA SHUA 2 300,000 x12& 3,600
202 o4 | 2,000 1,000 1,000
01 2Ll 2,000 1,000 1,000
OBESAZAAISEZAF Y| 2,000
2I)IEEEEY 2= 17,796 17,796 0
308 MXISHHSOIA 17,796 17,796 0
07 MHXHH2AESZ 17,796 17,796 0
OE-Z2 BESHNIEMNESE B2
17,796,000 13| & 17,796
A2 MolE2HAH 2= 5,817 9,841 N4 ,024
308 XAHXIGH SO0l & 5,817 5,926 A 109
10 B 2SOHUSE AN E AIS Y 5,817 5,926 A 109
OANZ R ERAIAE 2F KX 5,817
A2 2SI|8F =S &H| WA 32,000 130,000 A98,000
403 XX S M S X201 & 32,000 130,000 A 98,000
02 2| 2S0 et A=2EEAS Y 32,000 130,000 A 98,000
Z2E)|8t- S &Y WA 32,000
MNXSH 2SS0/ =& DHAJ 9,389 37,164 N2T,775
= 2,129
= 7,260
201 &Bt24Ay| 9,389 37,164 N2T,775
= 2,129
= 7,260
01 AP 2t 2| H| 9,389 37,164 N27,775
OANZFR 20|18t “S&H| A c2la2 9,389
= 2,129
= 7,260
CCTVE &2 HHEE 252Y 909,011 111,148 797,863
101 Q124 H] 255,155 255,155
04 JI2ZtHIZ22NEE S 255,155 255,155
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SN HITR
HE: HIAY A
ool B|® NFELI| X4 EERED
5 - 4
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OYalXD sterstorte 2&X 40,000
O&e== L AISH0IS M=sUE 10,000
J2HHZ2 2 X 2= 22 263,254 212,754 50,500
101 e1214| 213,000 162,500 50,500
04 J|I2ZtHIZ22NEES 213,000 162,500 50,500
O=0d2 842 1,500,000, 000& *4.5% 67,500
Onssgsgs 8232 3,500,000,000& x1.5% 52,500
Ot NRE 23
2,200,000,000& *x1.5% 33,000
Og &3 60,000,000 x14 60,000
304 =28 =2S 50,254 50,254 0
02 200122 50,254 50,254 0
O=Z2oAHLEE 2 1,500,000, 000 *3. 12% 46,800
OIYEE= 46,800,000 *7.38% 3,454
WRI|IL &= 2,392,930 1,879,321 513,609
= 46,000
< 299,740
= 2,047,190
NEOITH AL 2,392,930 1,879,321 513,609
= 46,000
= 299,740
= 2,047,190
NG A 112,500 117,500 A5,000
201 et 9| 2,500 2,500 0
01 AP 2t 2| bl 2,500 2,500 0
O TNANL A2 X 1,000
O MMEHAL=A = 2| 1,500
202 044l 2,000 2,000 0
01 2L Y| 2,000 2,000 0
O THAEHLR=E (4 H| 2,000
308 AXIEHSOIA 108,000 113,000 A5,000
08 W=EJl&otistE=x 108,000 113,000 A5,000
OXZAANEHE 2 30,000
O0glo] Metnst na 29 10,000
AUA StM QHAEZ Y 15,000
Oga N2z 20ty 249 8,000
OYA =s0HE WEER XE 45,000
KNEOTHELANS(EX) 70,000 93,000 A 23,000
= 21,000
= 49,000
308 AXIEHMSOIA 70,000 93,000 A 23,000
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SN HITR
M DRI =2F
el XIHOIT LAY (B9 ®R)
5 - 4
A FB B (EN) - HRAY - BES 0l &t o il HImEET
= 27,000
s 49,000
08 WEII20HStE X 70,000 93,000 A 23,000
OXYg 25 s4Ad 50,000
= 15,000
[ia 35,000
OWXds=z0E ¥=22 84 4 20,000
< 6,000
e 14,000
SHMHE g & ssuna I 170,000 200,000 A 30,000
308 XX EHSOIA 170,000 200,000 30,000
08 WSII20HetE = 170,000 200,000 A 30,000
Oogus ssus 29 100,000
Ogu= ety n=EX& 70,000
B HEZwAL N& 42,350 47,000 A 4,650
= 16,940
s 25,410
308 MXIEHMSOIH 42,350 47,000 A 4,650
< 16,940
s 25,410
08 WSII20HetE = 42,350 47,000 A 4,650
O202 SUHEZ WA X3 A 42,350
< 16,940
[ 25,410
=228 s d X 171,204 179,148 AT,944
306 ¢ 32 57,500 61,663 AN4,163
01 &3 57,500 61,663 AN4,163
O2ZEHE g (He=SZAMSEML)
z=H 2E3 57,500,000& 57,500
308 XX EHSOIA 113,704 117,485 A 3,781
08 WEIIZ20HStE X 113,704 117,485 A 3,781
OJF0e WA 1Al XA 91,300
OZHMEdH 2¢ bl X& 10,000
OZUHMEHE Jl=sAt S48 XA 12,404
— TS 2,600 *690H 24! +23| 7,176
— =M 3,300 «396H 24! 23] 5,228
St A K& 50,787 54,173 N 3,386
308 X EHHSOIA 50,787 54,173 A 3,386
08 WEIIA0HStE = 50,787 54,173 A 3,386
OstneagAdl XN 50,787
—XZ=0Etn dast=s gAldl X
3,300 *90H » 171 %241 x50% 50,787
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SN HITR
M DRI =2F
el XIHOIT LAY CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
J=giw SAXNIA(EBX) 55,000 0 55,000
< 16,500
s 38,500
308 AHAIEHHSOIA 55,000 0 55,000
< 16,500
s 38,500
08 WSII20HetE = 55,000 0 55,000
OJI=&01 XA (II=A S4H X&) 55,000
< 16,500
= 38,500
sEAZ=N 24 N (BExX) 92,000 90,000 2,000
= 46,000
< 13,800
i 32,200
307 glz2tol & 92,000 90,000 2,000
= 46,000
< 13,800
e 32,200
02 HAFHAANGFEE 92,000 90,000 2,000
OsZERs XEAY 92,000
= 46,000
< 13,800
fia 32,200
sERS KNEAG(EX) 30,000 40,000 10,000
< 21,000
s 9,000
308 MXIEHSOIH 30,000 40,000 210,000
= 21,000
s 9,000
08 WSII20HetE = 30,000 40,000 A 10,000
Os&xRs gdstn S22 JHXE
10,000,000& «3H 1! 30,000
< 21,000
[ia 9,000
Aoz s 29 N2 200,000 1,004,000 A 804,000
306 =43 200,000 1,004,000 A 804,000
01 &3 200,000 1,004,000 804,000
OYaZ Het&Ests A 200,000
et stXt=a HEOI A XI& 1,000 1,500 A 500
< 500
[ia 500
301 gEtE 4= 1,000 1,500 A 500
< 500
s 500
02 ¥et=stit= 1,000 1,500 A 500
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SN HITR
M DRI =2F
el XIHOIT LAY (B9 ®R)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
Ofstd stXt=a WE0IX X 1,000
< 500
[ia 500
Qasgelmsd 24 698,089 53,000 645,089
101 14l 28,489 0 28,489
M4 D12t ZE2EXNEES 28,489 0 28,489
OSEelMed It 224 oF 28,489
—Jlas 20,942
—X==g 802
= 5,545
— ZE SOl 1,200
202 odl 3,000 3,000 0
01 = LH 4 1l 3,000 3,000 0
O=sgeolmsergy 28 ol 3,000
207 Ao 2| 11,000 0 11,000
02 & AR I 11,000 0 11,000
O=gelmaetd EHOolX = 11,000
306 £ 3 655,600 0 655,600
01 &3 655,600 0 655,600
osgeollsg 29 535,000
O=sgelmereg stJAE T2 120,600
AaIEOIWEY 2I(EX) 700,000 0 700,000
= 210,000
s 490,000
306 £ 2 700,000 0 700,000
< 210,000
s 490,000
01 &3 700,000 0 700,000
Osgomsy 29 (XY 252 SHAY) 700,000
= 210,000
[ia 490,000
WAL 4,000 7,300 A 3,300
QITH A DBt RS ALY 4,000 7,300 A 3,300
SEME 222 4,000 7,300 A 3,300
101 @124 dl 3,000 3,000 0
04 JIZtHZ2XEES 3,000 3,000 0
OHTAMRA F¥ MEAY g
150,000+4H 4 2,400
OSTANR NES B2 oy
150,000+ 1 4 600
201 LBH2E| 1,000 1,000 0
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N 263,244
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1,000
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16,250

16,250
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20,000

20,000

20,000

37,500

37,500
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11,638,632
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Off &t 24

1,000
1,000
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32,500
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H
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45,000

mH

H

18,000
27,000

11,375,388

11,332,720

74,392

74,392

30
g
H0
A0

ulo

O

of
3

KJ
ar

=
=

I =

X

=3
=

=

(=]

Ik
=}

H AH S

ol

o
°d
0l
£
20
0

[

ol

00
Kl

OF
E
20
B0

il
<0
H

o)
oll

12IIEtE2d=

ro
<0
mi

oJ
oll

12IJEeEd=s

oM

30
U

F

w)
Ed
{0
ior
o

0

il
<0
H

ol
oll

301

o
<0
H

!

12 JIEt

[

30
OH

Edl
<D

iior

10

<N
o)

RO

10
N

R0
30
0
RO

[

KJ
Kt
oF
ol

"

&l
ol
5
R0
i

K]
KF
i[
ol

|
10

52,800 1,200

54,000
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ZEDIEPN
U2 (HIXRAY)
ol 2o bl (B9 ®R)
5 - 4
A FB B (EN) - HRAY - BES 0l &t o il HImEET
02 A& H 2= 20,392 17,836 2,556
oz 20,392
SN0 ,000,000 ,900, 000 100,000
303 Z& 3 ,000,000 ,900,000 100,000
02 4a0= ,000,000 ,900, 000 100,000
Oduadd= ,000,000
SHOIHHIN E2H ,554,789 ,504, 371 A 949,582
304 H=RESS ,453,536 ,410,371 A 956,835
01 H3=2E= , 778,408 , 120,926 AN 1,342,518
Oz 2E3 40,563,023,000& *8.75% ,549,265
o2& 3 40,563,023,000& *2.301% 933,356
O&l&=+g 253  40,563,023,000& *3.0025% ,217,905
OMo24 23 40,563,023,000& *0. 192% 77,882
02 ZAHLEES 1,675,128 ,289,445 385,683
OZALEES 50,000,000,000& *3. 12% 1,560,000
OFILLEES 1,560,000,000& *7.38% 115,128
307 21201 A 101,253 94,000 7,253
iy E=PNE== 101,253 94,000 7,253
O33R & 324 MEERZ
3,393,000& x214H 71,253
OZ22&d M2ES 10,000, 000& *3H 30,000
foHAxZ2X HE2Y 1,441,270 ,092,513 348,757
101 @124l 1,190,000 925,000 265,000
03 RIAHA2ZZ2HE > 1,190,000 925,000 265,000
O=0d=s RBE= 5,000,000,000& *4.5% 225,000
OnEZEE RE3 6,000,000,000& *1.5% 90,000
Outg o2 s &
5,000,000,000& *1.5% 75,000
O)SESE= 160,000, 000& *5H 800,000
04 H=RE=SS 251,270 167,513 83,757
02 2QALEES 251,270 167,513 83,757
O=0AH22E 3 7,500,000,000& *3. 12% 234,000
OEINRYEES 234,000,000& 7.38% 17,270
HEXNAL A2 262,269 0 262,269
101 @124l 262,269 0 262,269
03 RIAHAA2ZZRHE > 262,269 0 262,269
OZ&A E4AR¥ 111,414
—Jles 66,533
— &0z 22,178
—REFssE 13,895
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2N
X ZH -
L= B

el

>

ro g2 o2
1% 02 oA
02 02 {0
0y U
o
@
04
Pl
o
>

H0 Mo =

=5

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2

PN 4,008

— @E FItHI 4,800

OFUHAY IAA 22 30,480

—-JlE2=3 66,8003 *1H x249 16,634

— &3 5,545

—23FFY 66,800& * 1 52 3,474

— X< 66,800 *1H 15 1,002

— @& EIY| 600,000 * 1«23 1,200

— g4 50,000& x1H x12& 600

A AALES 30,000& 1 x12& 360

— A2t =& 9,246 x1H x15A| 2t % 12& 1,665

OFUHAY Ze2lAH, =g o8 90,354

A== 66,8003 *3H x249 49,900

— &3 16,633,200 *3H x4/12 16,634

—F=F5Y 66,800& *3H x52 10,421

— X< 66,800 *3H x15L 3,006

— 9 &E =4l 600,000& *3H 23] 3,600

— < 50,000 *3H x12& 1,800

— XAk g 20,000& x2H x 128 480

— A2t == 8,357 *3H x15A| 2tx12& 4,513

Oksxe Ny o 30,021

—JI=23 66,800& x248 16,567

- F=FExE 66,800& x52 3,474

— &2 16,432,800& *4/12 5,478

PN 66,800& x12 802

— 9 &E =4l 600,000& *23| 1,200

— 4 B2 2,500,000 2,500
=2y 42,668 71,112 £28,444
HEXAA JI=2FH| 42,668 71,112 N 28,444
201 Bt A | 18,188 30,132 AN 11,944
01 Al 22/ 18,188 30, 132 A 11,944

OSH 0l & 12,551,000& =14 12,551

OS&H A 5,637,000& x 1 5,637
202 O B 18,480 35,640 A17,160
01 2L Y| 18,480 35,640 A17,160

OSH & 18,480,000& =14 18,480
203 PR =&H| 6,000 5,340 660
04 EANSHLRF=AH 6,000 5,340 660

O#HFXN A EA2H 500,000 x12& 6,000
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